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Multiple Choice

1) (A) The constant term is 10, so, test ( 2) only.

(2) 8 20 22 10 0, 2 is a factor

2) (B) log 8 1.893 3log 2, log 4 2log 2

2
1.893 1.26

3

3) (B) 70 (opposite angles in a cyclic quad)
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(e) Let 1, 2 .

When 0, 1; when 3, 2
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Question 12

( )
1

(a) 360 100 80 (angle at the
2

circumference is half the angle at the centre subtending

the same arc)

(b) (i)

ABC∠ = ° − ° = °

( ) ( )
1

2 2

1

13 3

1

3 3

3 3

3

3

2

1

2

2

(ii) 1 2

(c) (i) Given 1 2 1 .

2
3 3

2 2
2

3 3 3 3

3 2 4 6 2

3 9 2 0

(ii) Let ( ) 3 9 2

( ) 9 9

(0) 2 2
0

(0) 9 9

(d) 4

h

h

h

h

x

x

x

x dx x dx

x x
x x

h h
h h

h h h h

h h

f h h h

f h h

f
x

f

t e

e

π π
−

−

−

−

− ≤ ≤

− = −

   
− = −   

   

 
− + = − + 

 

− + = − +

− + =

= − +

′ = −

= − = − =
′ −

= −

=

∫ ∫

2 4

2 2 4

22

2 20 0 0

4

2 ln(4 )

1
ln(4 )

2

1

2(4 )

1 1

2(4 ) 2 2

1 cos2 2sin sin
(e) lim lim 2lim 2

x

x

x x x

t

x t

x t

dx

dt t

d x e

dt t e

x x x

x x x

−

→ → →

−

− = −

= − −

=
−

= = =
−

−  
= = = 

 

Question 13
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(ii) If 100 then 100sin 2 .

Since sin 2 1, 100.

(iii) If 200 and 100

200sin 2 100
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From the graph of sin , sin for
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(a) Let 1, 8 6 518 74 7, divisible by 7

Assume 8 6 7 , where is an integer,

i.e. 8 7 6 .

Required to prove that 8 6 is divisible by 7.
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7 64 4 6 , which is divisible by 7.

By the principle of Induction, it is true that 8 6

is divisible by 7.
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